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1. Hm%mwmﬁqﬁammm-méa$mwmﬁ@aqﬁﬁaﬁﬁv
AT o ara §| T 3o 39 Rl Haer i Tod wfafte i & A1 T & 3ETHR AR
ATl TR T & il HTehT 38R IEIhd P& SIudf|

You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

g, SRAT-T, 80 TeAT I Torel SReT-Gfeerart & T A § 3 o i @iy 02 6§ |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.
3. IR et TR aEqes THR & wee gt e & R e eIy w9 A | ew |
The questions will be objective type with four options out of which only one will be unambiguously correct.
4, TF T2 ST 04 3F ghr 3R 9AF AT 3ok FioT Teh 3% FHIeT SCT |
Each question carries 04 marks and one mark will be deducted for each wrong answer.
5. WAl 3eck &t & forw g@dr Wil Al 31791 ANTANR SecRk-feeenr & et
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
6. 3T, Seax-Qieat F R e el & Aan, Arell/sTel FATE & e UIge 95 § AR Ieck-
gfecent 7 Haftrd sifae @1 3ifhd X FEY Seak I 9T HAT &

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. TS TR & felT 31a3eh SeaX el AT SATeeT |
Multiple answers for a question will be regarded as wrong answer.
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Wﬁﬁﬁﬁﬂ%ﬁmmﬂﬁﬂwmm.mﬂmmgWWWFWW
Torga AR T

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the

space provided.

qaﬂ-gﬁ?lmﬁmammﬂmaﬁrﬁt&l

Enter your Name and Roll Number correctly in the question booklet.

WMW—WﬁﬁWM@@W%ﬁHW%@@ﬁMWI

All entries in the OMR answer sheet should be with blue/black ball point pen only.

e efer & TRdeTer hr 3ureafE # &1 31U glel-feehc IR EATER el TIfE T

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
R aiaT STeeaTe) Bie & 3iex FIEN. HIAHOIC, HATEe B U Wl SAFCIAS FIId,

ST-GEeTs, Aie AT St Y e o1t & Sreat]

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not

be allowed inside the written test hall.

HIaT qot B R, JTANR Sec-gfeae H U & e Fre § 18 AR 7T AR
Seer-g e fidaTa i it o gl gid e I TH |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over

the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

mﬂ-gmﬁra{szraﬁmﬁqmwm%'l

The question booklet can be retained by the candidates.

e & e B & SR 31T o gter Bige Y A AT &

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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el Erey YhoReT & ferw diaid gl

For a domestic refrigerator the COP is

(a) 13 3FTFH/More than 1 (b) 1@ &HA/Less than 1

(¢) 1% sEYEqual to 1 (d)  YEETHAT AT foRaT ST Hehcl/Unpredictable
ATed TIH & 3TAR Ueh 31MeeT 349 & v

According to Charles’ law for a perfect gas

(P=gTd/pressure, V=3Tds/volume, T=dT9AT/temperature, m=gcdHlsI/mass, R=3 T&WRie/gas
constant, J=g[el T W/Joule’s coefficient, Cp=3TR &9 W f3fAse FeATspecific heat at constant
pressure, Cy- I ‘ ATadeT ¥ fafise F Avspecific heat at constant volume, C d/and
n-=T&eRi®/constant)

(a) V1T2=V2T1, afgp et 2RI @ STdT @/if P is kept constant

(b) P1T2=TI1 P2, aE ¥ I [EeRie @ I1ar o//if ¥ is kept constant

(c) P1V1=P2 V2, afe T o Fe2Rie @1 oar &/if T is kept constant

(d) 39 # 4 b 1 AI/None of the above

Tefide aadarel [har 72N Y a7ear frg org 3ifRcaaa Fr ararg?

How is the capacity of a refrigerating machine expressed?
(a) higaie FI 3R 3mTd=1/Inside volume of the cabinet

(b) UTCT AFITH dTIHA/Lowest temperature attained
(c) <fafera T 3T W@ SeTE | a1 o 379TgT i &/

Rate of abstraction of heat from the space being cooled
(d) #dTHT Hol AN Tl 8/Gross weight of machine in tonnes

ol &t 7 shiferen &l gergl
The critical pressure of a liquid is

(a) 9% e foud W ga &7 faTwie g sreen

The pressure above which a liquid will explode

(b) % e foras T ga gaem arsy 7 gRafea g |

The pressure above which a liquid will always convert into a vapour

(c) dg & foras W &a &a &Y Ram|

The pressure above which a liquid will remain a liquid

(d) TT TS Torae oi1< & G arsq & §9 |

The pressure below which a liquid will always be a vapour form
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ey T geiaeT yorrel & weiiad & Ioddd drgATT Fd gl 7

The highest temperature of refrigerant in a mechanical refrigeration system occurs
(2) YER aTed & Ugel/Before expansion valve

(b) aIfqF #/In evaporator

(c) aTeuF T HS=wR & oIl #i/Between evaporator and condenser

(d) wdree aUT H3=aT & drer #A/Between compressor and condenser

v arsq Hdse T & RiiaE G 7§ H F Wl 57

When does the refrigerant exist as saturated liquid in a vapour compression cycle?
() VR aTed & gieht ST & aTeyAfter passing through the expansion valve

(b) @EER W g1 STTe & aley/After passing through the condenser

(c) FS+a Y gIeT I ¥ Tgel/Before passing through the condenser

(d) TS A gIAT YA FA U ggel/Before entering through the compressor

STeee & IH & AR, I & AT F Pl a1 & e B
According to Dalton’s law, the total pressure of the mixture of gases is equal to

(2) 3 3moTaes s & fyenfSrer @l 3 31 areit & AreT
sum of the partial pressures of all divided by average molecular weight
(b) sl & 37Tk &Ter o Arel/sum of the partial pressure of all

(c) | F 3T a1 A HAF/greater of the partial pressure of all
(d) | ¥ 3ife gTe & 3iad/average of the partial pressure of all

forelr wehiet o # Hfedr <q & T s $ Sl g

In a refrigeration cycle, a capillary tube is used

(a) 2fcTeTel YoTTd 3cost dal/to produce cooling effect

(b) NS F9TE & A9 Fr AT FeA/to control the temperature of refrigerated space
(©) weias & ga & arsa $ Rufa 7 oRafdd w3/

to convert refrigerant from liquid to vapour state

(d) Wi & JaTg AT H/to control the flow of refrigerant

ﬁaﬁ%ﬁ%ﬁmﬁ%mﬁmﬁmﬁmg,ﬁﬁﬁ
Ammonia is preferred as refrigerant in large commercial installations because

(a) IR ITd FEAT %<1 &/it has low latent heat

(b) g Tfas §/it is non-toxic

(c) g 3BT T g/it is relatively cheap

(d) & frsuTesT &1 fo¥o=1 /it has low working pressure
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10.

11.

12.

13.

14.

15.

e AL e A & faw wdigs & e T WA gl =R Tl

In order to obtain high C.O.P, pressure range of compressor should be

(a) T/ low (b) 3TIhigh

(c) FScdH/optimum (d) I 3T A/any value

yelteer gfore deiiger & TUOT UIBT F oA, faeRer Ry Fr e A gl
The diameter of the suction pipe of refrigerating unit compressor, in comparison to delivery side is
(a) «ET/Bigger (b)  ®icrSmaller

(c) HHA/Equal (d)  qETHT el foRaT ST @ehal/Unpredictable

27°C W IS T F FHEH AT G G T R ad W A A S g1 Hfaw

ATIATT gl .
A perfect gas at 27°C is heated at constant pressure till its volume is double. The final temperature is
(a) 108°C ~ (b) 654°C () 327°C (d) 54°C

AR & FSATIAE UH & AT g YR ——%l
The basis for measuring thermodynamic property of temperature is given by

(a) FSHATTCER T gfady Aad/second law of thermodynamics
(b) SSHTITTRT T el [@FH/zeroth law of thermodynamics
(c) FSARTRT HI el [@FF/third law of thermodynamics

(d) FeATTTET F1 9UHA FFHA/first law of thermodynamics

faelt gerd &1 Her AT & AT @ 8 S S g

Total heat of a substance is also known as
(a) Vegrdi/entropy * (b) 3R Failinternal energy
() u=dedlenthalpy (d  FHF &TAdNthermal capacity

qolaeT &1 UF o7 U & 95 & 0 & TA wiiae 9 & se] giar ol

One ton of refrigeration is equal to the refrigeration effect corresponding to melting of one ton of ice

(a) 12 €T #fin 12 hours (b) 1EC#Hfin 1 hour
(c) 24 et #/in 24 hours (d 1@ H/in | minutes
5 1348



16.

T

18.

19

20.

TF Foss aud # TR H gER IfFd wrEifead ¢l

In a flooded evaporator type of expansion device is employed.

(a) &= yafda g area/Self-actuated expansion valve
(b) T Tgs/Capillary tube

(c) o T g/ Thermostatic device

(d) veras ared/Float valve

areq TdEA O A 3TIaR al9H W BT Bl
The higher temperature in vapour compression cycle occurs at

(a) YR dTed/expansion valve (b) wdsE fagarst/compressor discharge
(c) He-ax fawsiet/condenser discharge (d)  ifFEméireceiver

aﬁTlmTzwmmwwqﬁHmeﬁ@mwm
IGralars dIHHld-%H)TSHEﬁfﬂTm F IR gl

If T1 and T2 be the highest and lowest absolute temperatures encountered in a heat pump operating
on a reversed Carnot cycle, then its COP is equal to

(a) (T1-T2)/T1 (b) (T1-T2)/T2 () T2 (T1-T2) d TIAT1-T2)

m—uﬁﬁﬂmmaﬁ%ﬁqamwﬁﬁwaﬁmm &1 giaf’ea
FLT &l

The lower horizontal line of the refrigeration cycle plotted on pressure-enthalpy diagram represents

(2) weficieh arsy T HSeT/compression of the refrigerant vapour
(b) Edises aTSq T HueTel/condensation of the refrigerant vapour
(c) gaheaH aTsgsT/evaporation of the refrigerant liquid

(d) wefices ga &1 ATael/metering of the refrigerant liquid

SAITRIT T 3YANT ST aTST HaRoT YUIel H ¥ foT Ster 3mfea g
In vapour absorption system using ammonia, water is required for

(a) %ad He-avCondenser only

(b) a quUfF/Separator only

(c) 3raeiTye, qafend U shs=av/Absorber, separator and condenser
(d) Facr gATH/Absorber only
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21.

22.

23.

24,

frelt Ry G & wauT ool GNfRT T FT FE §7

What is the function of brine agitator in an ice plant?

(a) T ufeFa I HA BT To reduce comMpressor power

(b) FIUT STl T ATTHTA Teh AT HTocd AT/ To obtain uniform temperature of brine
(c) @3 # gig FA0To increase C.O.P

(d) 3719 ¥ U & i6l/None of these

PEfafRa syt § § Ha-ar F@ 82
Which of the following statement is correct?
(a) Mama%aﬁama%mméﬁmmmmmwﬁl

Dew point temperature is the saturation temperature corresponding to the partial pressure of
the water vapour in moist air

(®) AT T FETIAT A 3G AT ST AT AT S HehelT ¢
Dew point temperature can be measured with the help of thermometer
(c) HETF TIH FEAFIS HTE-ded aTaHweT & sl ¢l
Dew point temperature is the same as the thermodynamic wet bulb temperature

(d) Heea arg & A, 3R SToHN - god AIAT A FA G
For saturated air, dew point temperature is less than the wet bulb temperature

ATIET 3Tl T 87

Relative humidity is

(a) ﬁmﬁwﬁmmmﬁmﬁmﬁﬁwwﬁmﬁmamﬁr
T A § wiaed & €9 F g w el

Tt denotes the amount of water vapour actually present in air as a percentage of maximum
amount that could be present at that particular temperature

(b) %mmwﬁw%ﬁmmmﬁmmmﬁmwaﬁa@m%mﬂ
yfafafteg wargl

It represents the ratio of mass of water vapour to the mass of dry air in a given volume of air
water vapour mixture

© ﬁmmmﬁmﬁﬁaﬁemmmwm%l
It is the mass of water vapour per unit volume of air water vapour mixture

(d) 39 ¥ T ¥ 6/None of these

F TEFRRE T F AR F THG G ST T F GRS A 87

In a psychrometric chart, what does the vertical lines parallel to the ordinate indicate

(a) 3TE-Sed argaAT/Wet bulb temperature  (b) faferse 3mganSpecific humidity

() 3\ amAT/Dew point temperature  (d) Y Fed AT/ Dry bulb temperature
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25,

26.

27.

28.

29.

30.

St & gt @1 3T et o AT fRr Star & d 98 e e AR wRilas a1 e
o g, Toreeer A &

When two refrigerants are mixed in the proper proportions, the mixture forms a third refrigerant
called

(@) wefiaes FAuTrefrigerant mixture (b)  @ferse gRicd=i/synthetic refrigerant

(c) TEeReFarivan azeotrope (d) 3=g e velidehigh pressure refrigerant
a,b,c F13EAE 20 30 b, ¢, d F7 3FT 251 AR A =30 AT a FIHA gl

The average of a, b, ¢ is 20 and that of b, ¢, d is 25; if d = 30, the value of a is

(@) 25 ) 45 © 30 @ 15

&Y Tt FT AecdH FAGSE 12 § TUT 37T Oh 288 ¢l 3+ HEAT3 FT T FHETIAdR
- %‘|

HCF of two numbers is 12 and their product is 288. LCM of the two numbers is

(a) 288 (b) 3456 © 24 @ 12

ERIETROT fFaT ¥ gey # Prafaf@a & @ Si9-a1 F9a T9d 87

Among the following, which statement is incorrect regarding “dehumidification process™?

(a) Hfea= =Y 9gdr §/Enthalpy of saturation increases.

(b) <rSh-Tod ATTATT 3aRafad I8dr 8/Dry bulb temperature remains unchanged

(c) =T#Y T fARIET STTaT §/Moisture is removed

(d) TafRrse e o |TdET AT Tl 8/Specific humidity and relative humidity decreases

What does the curved lines on a psychrometric chart indicate?
(a) 3N aIAE/Dew point temperature  (b)  |TUET 3TEAT/Relative humidity
(c) Tafrse amgarSpecific humidity (d)  h-Sod AYAR/Dry bulb temperature

T & Wy Neee & e faf@d & & Sla-a1 g ST 62
Which of the following decreases during sensible cooling of air?
(a) TaRrsE 3mganSpecific humidity (b)  3TE-god dAT/ Wet bulb temperature

(c) YF-aed ATIARADry bulb temperature  (d) ST @ T 9T A6/ None of these
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&1.

32.

33.

34.

35.

36.

# 1% aiade o gt deh e JrAs X @dr &l
Dew point temperature is constant as long as there is no change in
(a) drg I AT/ volume of air

(b) T T HTYET AT fARISE 3T cAl/relative and specific humidity of air
(c) g AT T 3RMmoisture content of air
(d) Secgdrer aur SIIEWBT and DBT

TIEH FOAT 0T ——————— SN AT ST g
Sensible heat factor is given by
(a) (LH-SHYSH (b) (LH+SH)YSH (¢) SH/(LH-SH) (d SH/(LH+SH)

U 100 d1cH dod Hl Th oo & [T 3 W@ W 3THET A 315 Fofl TR FhaAch A foveir
gIem?

If a 100 watts bulb is switched on for a day, then power consumed in power units

@) 24 (b) 2400 © 40 @ 1

1 fFal. ————— UBsH ael ¢l

1 kg is equal to ————— Pounds.

@) 2.2 ® 1.0

(c) 0.453 (d)  3uYFd # & T ¢ i/None of the above

S & il #Y s@er aur WA A SieT IAT v YRR $Aw: 7 ohm FAT 12/7 ohm 3|
IFGeTd 9oy frde gier?

When two resistances are connected in series and in parrallel, the resistance were 7 ohm and
12/7 ohm respectively? What are the individual resistances?

(a) 2and5 (b) 3and4
(c) land6 : (d 3and7
Hiestel giohar # FgFd Aoz T v e B
The solder used in soldering process is an alloy of
(a) drTTReT/Lead & Tin (b) HrETg diELead & Copper
(c) fesTadamnTin & Copper (d =iy g feswSilver & Tin
9 1348



37.

38.

39;

40.

41.

42.

2 mfd, 4 mfd TIT 4 mfd AT F 3 FIR F ST WAl H ST SICAT & dF FeTT &FF7AT
gl

When 3 capacitors of capacities 2 mfd, 4 mfd and 4 mfd are connected in series, the effective
capacity is

(a) 10.0mfd (b) 1.0mfd

(c) 6mfd (d) 3SHEFIAA u 3T FEh/none of the above
Faft-22 fafas H o ——— 3§

The color of the Freon-22 cylinder is

(a) BI/Green (b) @re/Black

(c) g ATel/Dark blue (d) @melRed

2 VeAlfewat ——— duHsgelT & SR g

2 atmosphere is equal to ———————— PSIG.

(a) 294 (b) 14.7 (c) 20 (d 2.02

2 fFam o & 100° B ¢ ww 2 fFan g & oRefda s & v 3nfag au

gl
The heat required to convert 2 kg of water at 100 degree C to 2 kg of steam is
(a) 1940.8 Kcal (b) 1078.2 Kcal
(c) 2.0Kcal (d)  3HRIEFd & T # AE None of the above
-400F = —— 0C,
(a) 18 (b) —40
(c) —60 (d) 3'Q'{-‘IDT=|'?T H ¥ T #T A€/ None of the above
gaFgIaRH ey ———————— W FHA HLATB

The Electrolux refrigerator works on

(a) M—ﬁ'c{gﬁ TAgTd/thermo-electric principle

(b) 3raATyoT TR YUTTell/absorption refrigeration system
(c) HTAS TIS Yolell/vortex tube system

(d) arsT HYIST YolTell/vapour compression system

10 1348



43.

44,

45.

46.

47.

48.

arsy Henyor geftast gomell F i sHss & 7 # wgF fHar STIar
Lithium bromide in vapour absorption refrigeration system is used as
(a) 9Mdeefrigerant (b)  FgAH/absorbent
(¢) <fiTele gerdicooling substance (d) Hers yAds/auxiliary refrigerant
a1 RSN =I5k T 3TN T ST Bl
Air refrigerator cycle is used in
(a) = weMds/Domestic refrigeration (b) afoIfeTs gfia=/Commercial refrigeration
(c) 3 gauGas liquefaction (d) 3'Cl'~’:13'_cr F@HAll of the above
g T T GfieTeh S &Y T HIA GU §aTS STETSHl oh ATcllogghoret 3 39T T STTaTel ¥ Sehoel
TG
In air conditioning of aero planes, using air as a refrigerant, the cycle used is reversed
cycle. '
(a) 3iEVOtto (b)  Seoule
(c) ssela/Brayton (d  FRAE/Carnot
osh # Ul & ¥ F G 1 3947 T S g
cycle uses air as the refrigerant.
(a) wcfelStirling (b) ©R&EwA/Ericsson
(c) Sa-Hlerdta/Bell — Coleman (d) ®R&ATE/Carnot
sl T #F welieh GaRT A1 T REeT —— & g &)
In refrigeration cycle, the heat is rejected by refrigerant at
(a) @Hs=EyCondenser (b)  afSu=/Evaporator
(¢) HdZH/Compressor (d) 9ER dTea/Expansion valve
Rl st @ 7 welias & 968 —————— earT AT R S 2
In a refrigeration cycle, the flow of refrigerant is controlled by
(@) ¥dMEH/Compressor (b)  arfSuz/Evaporator
(c) WHR area/Expansion Valve (d) @3FaY/Condenser
11 1348



49, ﬁaﬁ%ﬁaﬁa%%ﬁaﬂﬁ?ﬁrwwmmm

The formation of frost on cooling coils in a refrigerator
(2) 39 YoITell & A3, 7 GUR orelr e/Improves C.O.P. of the system

(b)  FSI 3TIIT HaT AT & 1/Reduces power consumption
(¢c) it 39T 7 g AT § I/Increases power consumption
(d) AT EAHATROT A gfg o1aT § 1/Increases heat transfer

50. fordr weiiaer 9% & 3u-efiaere, A3l «r

In a refrigeration cycle, the sub-cooling C.OP
(a) &Qrdr g/Increases (b)  9Rafda #gr #arDoes not change
(c) ©erdar g/Decreases (d) 3‘51?1?!-—(-[ H ¥ U 3T €1/ None of the above

51. O SRR Yihicd HEam3il & el 27 g1 3w dar - §2

Sum of three consecutive natural numbers is 27, What is the last number?

(a) 8 (b) 9 (¢) 10

52. 400+ +100 —+/900 =

11

(a) -20 (b) 20 (c) O 60
53. fopelt welider =ooh & o qufea @ o & @ &
wEfua fanar Srar §1
In a refrigeration cycle, oil separator is installed between
(a) FHS=EY IUTYUR ared/Condenser and expansion valve
(b) wdIE® TAT HS-EYCompressor and condenser
(c) 3T T aIfty=/Condenser and evaporator
(d) 3udFda 7 & T o7 78/ None of the above
54. TH BIC WhoeX # Herr Tga &t & Fars & AT 3uer fRar S g
In a small refrigerator, a capillary tube is used to serve the purpose of
(a) aIfSYI/Evaporator (b)  ar9EUTdl/Thermostat
(c) @s=az/Condenser (d) Y9ER area/Expansion valve
A 12 1348



25.

56.

97.

58.

59.

60.

el efias & 790 &1 gort o HRSleud Ifea P ol

A device designed to remove moisture from a refrigerant is called

(a) TRIEFERS/Dehumidifier ()  uRErfaySolenoid
(c) waR/Expansion (d)  e9e/Drier
el e & Wi fewaarer ¢gst &1 9eg f

At the back of domestic refrigerator, the bank of tubes are
(a) aIfSus cgd/Evaporator tubes

(b) @S=E TFa/Condenser tube
(c) wefider efiTere Taa/Refrigerant cooling tubes
(d) FOedr ega/Capillary tubes

sy 3raeiyor gllad & Reefad § O Si9-9 uiiaes &1 3939 v siar 82

Which of the following refrigerants is used in vapour absorption refrigeration?

(a) 3ife/Freon (b) W STS3TFATSS/Sulphur dioxide
(c) STel/Water (d) IeFaT-37 =T/ Acqua-ammonia

arsy GdE 92T arsq 3Gy Yuel & & Fetai@d # § Sla-ar gedh 9iHT 82

Which of the following component is common between vapour compression and vapour absorption

system?
(a) fesead/Rectifier (b)  @s=aT/Condenser
(c) SIfAF/Generator (d)  3raeNyE/Absorber

U e VEERT yard & v Refaf@a # & wla-ar i ot w81 82
Which of the following is not a desirable property of good insulating material?

(a) @&olight weight (b)  FHA URTAF ARTA/low initial cost

(c) deré/odourless (d) 3T I Arelehdl/high heat conductivity
R a0 dMIART T g # A Slisa dr ufshar @ Fgd gl
The process of addition of moisture to air at the constant dry bulb temperature is known as

(a) wdgT fa=i/sensible cooling (b)  3MEfuThumidification

(c) dTdTlFeret/air conditioning (@ @UdEordehumidification

13
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61. AT gl

Ammonia is
(a) 3rsacrreliei/Non-inflammable

(b) fAufas/Non-toxic
(c) faTe] T 3rede=isiTel Toxic and non-inflammable

(d) 3=a faure qaT Saeriie/Highly toxic and inflammable

62. 100% GIA&T HTEAT T oeh-dod, IE-ged, HAH TAT FIfed & ddadd ————Fd ¢
At 100% relative humidity, the temperatures — dry bulb, wet bulb, dew point and saturation are

(2) o e/different

(b) ar sy, gl ffea-Ae=A/two equal, two different
(c) ol sXIeT, Ueh faffiest/three equal, one different
(d) sRIsT/equal

63. 3THcH shitdsh a1  geFd Tk Fefias gl

A refrigerant with highest critical pressure is
(a) IaA-SSHTFATES/Carbon — dioxide (b)  IFATTIVAmmonia
(c) 3i-11/Freon-11 (d)  ¥3i=-22/Freon-22

64. <fiaelet Ta) & 3IYITAA FTHAE
Approach of cooling tower means
(a) &S Ul & ATGATET AT ARASEIT AT Y FFeetar
difference in temperature of the cold water and atmospheric temperature
(b) TAY F I Ao STl IAT Tichel Tg T3 UTAT & ATIHTH i [fe=rar
difference in temperature of hot water entering and cold water leaving
(c) e eTeR @RI foiehrel 37T AT &1 ATAT keal/hr 7
amount of heat thrown away by the cooling tower in kcal/hr.
(d) N T Y Big1aTel 33 UTAT F dTTATT T2T IRT X DT gaT & HTG-S0d dATTHTA T THewTddl

difference in temperature of the cold water leaving the cooling tower and the wet bulb
temperature of surrounding air
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65.

66.

67.

68.

goligsT womell & A wAlad ARG {@odre dqedTdl Y8R daled & Fell ded @l

gd Bl

A power element in thermostatic expansion valve having the same refrigerant charged as the

refrigeration system is called

(a) %I TATAT aTea/Cross charged valve

(b) ST ITATRI aTed/Straight charged valve

(c) dTerd YdTTeld TieITTerent ared/Pilot operated solenoid valve
(d) 392l fA#T diea/Three way mixing valve

efadias geliae & SUET @ RrT TR eide #r Fed §I
Cooling effected by using secondary refrigerants is called

(a) YcgeT YoTell/Direct system

(b) 3T9cTeT YoTrell/Indirect system

(c) SIE YUTTel/Cross system

(d) faged gomeil/Isolated system

gfiaes & T 7 3T &7 3TAT Herarel wiiaeT Yomelr & &X0T &7 9dT

CaRT FITAT STl o 1
Leakage in the refrigeration system using ammonia as refrigerant detected by

(a) WG T IT=il/Soap and water

(b) STeicl g% HH-secl/Burning candle
(c) Hew Feahi/Sulphur sticks

(d) gemss er/Halide torch

PrfaRRd yhas 7 & fraer RaArrgaaa &2
Which of the following refrigerant has the lowest freezing point?
(a) h3iA-12/Freon— 12

(b) TS STEHTFATSS/Carbon-dioxide
() IAEI/Ammonia
(d) TEHT STS3TFATSE/Sulphur dioxide
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69.

20

1.

72.

73.

‘G IF F FET A AT T RIA-AT FUT TE &2

Regarding ‘Dry Ice’ which of the following statement is correct?
() & 3YfEAT FAET g1/t does not contain impurities

(b) T8 CO, &3 FT g 1/1t is solidified form of CO,

(¢) Ig STo-FAFd g1/t is free from water

(d) 39 7 ¥ ua Y 7ET1/None of the above

STel T Tefed W HaeE gl

Density of water is maximum at

(@ 0°C (b)y 4°C (c) 100°C (d O0°K
& AT g ST 1 3uer R S

Barometer is used to measure

(@) AT e aa/very low pressure

(b) UTY, AsTef 3N FT ETa/pressure in pipes, channels etc.

(c) dIHSE ga/atmospheric pressure

(d) 2 faig3it & drer e it eran/difference of pressure between two points

T amdar H 3URYT I aTT H gedA AT Bl
Absolute humidity is the mass of water vapour present in
(a) 1T g ary/1kg of dry air (b) 1 #’Ysw I/ 1m’ of dry air
() 1 3m-ary/1kg of wet air (d)  1#’AE-ARY1 m’ of wet air
U el SR 7 A9 & &7 T HET HROT gl
In a cooling tower, the dissipation of heat is mainly due to
(a) darsY=I/Evaporation (b) =TEA/Conduction
(c) Hag/Convection (d) fafeorRadiation
16 | 1348



74.

75.

76.

77.

et uelias T9F F ST F TRYU-ER W Mdes ST 20°C W YA &l § 3R 25°C W
feremer STTar &1 weftas e W Hafad gl

Cooling water at the inlet of condenser of a refrigeration plant enters at 20°C and leaves at 25°C.
The refrigerant would be condensing at about

(a) 30°C (b) 20°C © 15°C @ 25°C

SfrerereT 2TaR T el WA & |
Cooling range in cooling tower is the

(a) 2McTeleT 2Tt I BISATTH B8 UTAT o ATIHAT T IRT A T §aT & MTe-Tod AIHTA hl [Setar

difference in temperature of the cold water leaving the cooling tower and the wet bulb

temperature of surrounding air
(b) 3 Wl & A qYT AGHSENT ATTAR HY Hewrar
difference in temperature of the cold water and atmospheric temperature
(c) YU H R acd oTed T Reherararel el STef 3 ATIHT & eatar
difference in temperature of hot water entering and cold water leaving

(d) feTort eTa’ EaRT ATt fqw a1 arer r AT keal/hr H

amount of heat thrown away by the cooling tower in kcal/hr

A (2,3) kx + (2k + 1)y — 11 = 0,3@T R YSdT ¢ af k & AT gl

If (2,3) lies on the line kx + (2k + 1)y — 11 = 0, the value of k will be
(@ 1 (b -1 ) O @ 8

55 #Y. 9% 45 AN, FT UF GHEAIOE g §1 3TH 3ex IRT 3R 2.5 A disr e 9y 9w gl
% 10 9fg 997 A, iy e W AT Ik H G Sl T ART gl

A rectangular park is 55m by 45 m. A path 2.5 m wide is built all around inside it. The cost of

grassing the remaining park at Rs 10 per sq.m is

(a) T/Rs20,000  (b) ¥/Rs22,000 (c) T/Rs, 17,200 @  %/Rs. 24,000
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78.

79,

80.

SfieTeret 2Ter &7 3r9dge T Gd g

Drift in cooling tower refers to

(a) &3 Ul & ATIATT AT AIHSA ATTHTA T TeTell
difference in temperature of the cold water and atmospheric temperature

(b) WA FT I AT ST AT el ST I 33 TTeAT o ATIHTeT hr THewtalr
difference in temperature of hot water entering and cold water leaving

(c) <MNTeaT ey & BisAdrd 33 Uil & dI9H Jd4T IRl AR 6T §aT & AHg-dod dlgH T hl
[EEEGI

difference in temperature of the cold water leaving the cooling tower and the wet bulb

temperature of surrounding air

(d) Fuderc & § U o #gi/none of the above

YSh-Ted TUT Hg-dod & AH & & I fHetar & ITAR Tl 2l
The difference between dry bulb and wet bulb temperature increases as

(a) &g % 3R 37T gle/air becomes wetter

(b) TIRIHST ATTATA & Tea/atmospheric temperature decreases

(c) RIHST ATTHIE % Fg+1/atmospheric temperature rises

(d) g e 3R ek glet/air becomes drier

e AT AT 96T © ol WAIEH $I HAdTAD el
If the clearance volume increases, the volumetric efficiency of the compressor

(a) o &/increases

(b) ©ed g/decreases

(c) 3raRafdd IEdr E/remain same

(d) TRETATRIT T ¥ §6T g/increases exponentially
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